SET-A

PART — 1 (Teaching Ability, Reasoning and General Knowledge)
am - 1 (e aftafy, aaaf & T F9)
(ggT ¥&ar 1 § 100 %)

Teacher uses visual-aids to make learning—
(A) Simple

(B) Quicker

(C) More knowledge

(D) Interesting

The most important cause of failure of

teacher lies in the arca of—

(A) Interpersonal relationship

(B) Verbal ability

(C) Lack of command over the knowledge
of the subject

(D) None of these

Which is the least important factor in
teaching—

(A) Punishing the students

(B) Maintaining discipline in the class

(C) Lecturing in impressive way

(D) None of these

For showing the model in the teaching of a
topic teacher should—

(A) Keep showing throughout the lecture
(B) Stand in front of the model

(C) Show model when need arises

(D) None of these

Who wrote ‘Indica’™—
(A) Kalidasa
(C) Magasthenese

(B) Kautilya
(D) None of them

Who is appointed as the speaker of 16th Lok
Sabha ?

(A) Arun Jaitly

(B) Sumitra Mahajan
(C) Sushma Swaraj

1.

(D) Govind Singh Kunjwal
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10.

11.

12,

13.

14.

Annual Ratha Yatra of Lord Jagannath takes
place in which of the following state ?

(A) Tamilnadu (B) Karnataka

(C) Himachal Pradesh (D) Odisha

Who is appointed as the arbitrator in
Vodafone tax dispute case ?

(A) Ashok Chawala (B) R.C. Lahoti

(C) K. K. Malhotra (P) M. B. Shah

An example of audio-visual media is—
(A) Charts (B) Television
(C) Radio (D) Models

An example of maturation is when a child
learns to—
(A) Walk
(C) Read

(B) Draw
(D) Ride a bicycle

Which of the following is not a domain of
learning—

(A) Cognitive
(C) Conative

(B) Affective
(D) Spiritual

Ram returned the pencil, he took from Seeta’s
desk because he was afraid of punishment,
if he got caught. This illustrates Kohlberg’s—
(A) Pre-conventional level

(B) Conventional level

(C) Post-conventional level

(D) None of these

‘Konkan Rail’ directly connects-—
(A) Delhi to Chennai

(B) Dehradun to Tanakpur

(C) Jammu to Kanyakumari

(D) None of these

“Operation Black Board” was the outcome

of—

(A) Kothari Commission

(B) National Curriculam Framework - 2005
(NCF - 2005)

(C) National Policy on Education - 1986
(NPE - 1986)

(D) National Curriculam Framework - 200

(NCF - 2000)
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16.

17.

18.

19,

20.

21.

22.

Rural Development Minister Nitin Gadkari
launched the Shyama Prasad Mukherjee
National Rural Mission on ....... with an
allocation of 100 crore rupees.

(A) PPP model (B) PTP model

(C) VTZ model (D) STS model

Who is the Army Chief of India—
(A) Vikram Singh

(B) B. S. Chauhan

(C) D.K. Jain~

(D) Dalbir Singh Suhag

When i1s Anti-Terrorism Day observed ?
(A) 20 May (B) 23 May
(C) 22 May (D) 21 May

The Education Minister of Uttarakhand
Government is—

(A) Harish Rawat

(B) Dinesh A«arwal

(C) Mantri Prasad Naithani

(D) Preetam Singh

Project teaching method is associated with—
(A) Frobel (B) John Dewey
(C) Armstrong (D) None of these

When the child is ready to learn. he learns
more quickly and effectively. This principle
was given by
(A) Thorndike
(C) Pavlov

(B) Skinner
(D) None of these

A teacher in a classroom should act as a—
(A) Progressive role (B) Boss role
(C) Democratic role (D) None of these

The objective of teaching is to—

(A) Create good citizens

(B) Create persons who are useful for the
society

(C) Create socialistic persons

(D) All the above
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23.

24.

25.

26.

27,

28.

29.

30.

How many individuals were awarded the
2014 Raman Magsaysay Award ?

(A) Five B) Six
(C) Four (D) None of these

World Elephant Day was observed across the
world on which day ?
(A) 11 August
(C) 12 August

(B) 19 July
(D) 10 July

An effective teacher is one who can—
(A) Control the class

(B) Give more information in less time
(C) Motivate students to learn

(D) None of the above

The FIBA Asian cup is associated with which
among the follewing sports ?

(A) Table Tennis (B) Hockey

(C) Football (D) Basketball

While teaching a theoretical topic in the class,
teacher should proceed from—

(A) Unknown to known

(B) Concrete to abstract

(C) Reasoning to observation

(D) None of these

A teacher can minimize depression among
students by—

(A) trying to understand its causes

(B) motivating the students

(C) Aand B

(D) reporting to Principal

Microteaching is most effective for the
students—

(A) During the practice teaching

(B) After the practice teaching

(C) Before the practice teaching

(D) None of the above

Value education makes a student—
(A) Doctor (B) Good citizen
(C) Engineer (D) None of these

23.

24.

26.

27.

28.

29.

SET-A
R aafadl 31 2004 T FEE [EER ¥
(A) 9fF (B) B N
(C) T (D) = & FE T

fagg et feaw g s # feg o waman
AT ?

(A) 11 STE
(C) 12 ST

(B) 19 e
(D) 10 T8

(A) @& W fa=m

(B) &9 §9a ¥ Sifers gaem &

(C) farenfefat @1 digw & fom sifwuita &
(D) = | FI3 7

FIBA WiRwr %9 Fraifefas @« & 919 frag
yaftua g 7
(B) efaT

(A) 2w
(C) gzara (D) SrEzarT

& et @ A g afRu—
(A) 3151 ¥ 19

(B) 3 | IR

(C) 7 ¥ P

(D) 57 § &I &

BE & SEIAEAT & &H & & o0 s
T GFAT 3—

(A) T8S HIT B GHEA &1 BT FHEAT
(B) BIFT &l HifedT &

(C) A 3 B

(D) yuEE F graa &

HTEARITTET BE-BENA! & fou Bry emafy &
FIE THET BT -

(A) farerr s & SR

(B) e arqm & 9

(C) fareror apsamg & wea

(D) Iui=d ¥ FE 78

YeARTRE {987 BT &7 94T 991d B
(A) gt (B) 3BT 9
(C) srfrg=m (D) 39 § & T

04/FEB/A



3L

32.

33.

3s.

36.

37.

38.

39.

District Primary Educsation Programme
(DPEP) was launched in the year—

(A) 1986 (B) 1984

(C) 2001 (D) None of these

How many gold medals were won by Indiain
2014 Glasgow Commonwealth Games—
(A) 10 ‘ (B) 12

(C) 14 (D) 15

In a lively classroom situation, there is likely
to be—

(A) Occasional roars of laughter

(B) Complete silence

(C) Frequent teacher-student dialogue

(D) Loud discussion

In your view, teaching is—
(A) An Art (B) A Skill
(C)A&B (D) None of these

Area of individual differences is—
(A) Gender-difference (B) Body structure
(C) Mental abilities (D) All the above

A child who behaves against the gocial rules
and regulations is called—

(A) Delinquent child (B) Idiot child

(C) Duli child (D) None of these
Kumar S

akkara (Cricket player) belongs
to which country ?
(A) India (B) Sri Lanka
(C) Pakistan (D) Australia

For the students of 3rd class, which will be
the best way for teaching ?

(A) Lecture Method

(B) Creational Activities

(C) Group Discussion

(D) Laboratory Method

The academic performance of students can
be improved if parents are encouraged 10—
(A) Supervise the work of their wards

(B) Arrange for extra tuition

(C) Remain unconcerned about it

(D) None of these
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40.

41.

42.

43.

44.

45.

46.

If a student often comes late in the class you
would—

(A) Talk to his parents

(B) Complain to Principal about him

(C) Punish him severely

(D) Find the reason and then decide accordingly

A school girl developed the habit of dropping
the coat on the floor. Mother asked the girl
to get out of the room and hang up the coat
on the peg. The girl enters house keeps coat
on, approaches closet, hangs up the coat on
the peg. It is an example of—

(A) Chain learning

(B) Stimulus response learning

(C) Concept learning

(D) All the above

A process in which an individual learns new
responses by observing the behaviour of another
rather than through experience is known as—
(A) General Learning

(B) Social Leamning

(C) Experimental Learning

(D) None of these

A provision for education for the children
with disabilities can be made through—
(A) Integration

(B) Main streaming

(C) Inclusive education

(D) None of these

For primary school children, which of the
following is better ?

(A) Video simulation

(B) Hands on experiences

(C) Experimental

(D) None of these

‘Toy age’ refers to—
(A) Early childhood (B) Babyhood

(C)A&B (D) Late childhood
Tobacco addiction is due to—

(A) Cocaine (B) Caffeine

(C) Nicotine (D) None of these
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47.

48.

49.

S1.

52.

53.

54.

What is the minimum age for marriage of
boys and girls in India ?

(A) 21 years and 18 years

(B) 18 years and 21 years

(C) 18 years and 20 years

(D) None of these

Break down in verbal communication is
described as—

(A) Short circuit
(C) Unevenness

(B) Contradiction
(D) Entropy

Photographs are not easy 10—
(A) Publish (B) Secure
(C) Decode (D) None of these

The National Disaster Management Authority
funations under the Union Ministry of—
() Home affairs (B) Water Resources
{C) Defence (D) None of these

Which one of the following is the best
method of teaching ?
(A) Lecture

(C) Discussion

(B) Demonstration
(D) Narration

The famous temple ‘Dhari Devi’ is located at—
(A) Near Srinagar (B) Uttarkashi
(C) Chamoli (D) Pithoragarh

4:9: 0221
(A) 8 (B) 6
(C) 16 (D) 13
The sum of—
1+2+3+4+5 +100
(A) 5000 (B) 4500
(C) 5050 (D) 4050
93 7.3._9_1_ﬁ
4 17 15
il

(A) 71020 B 7 1020

817 .
© 71020 D) 87020
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56. a__bb__baa_ bbb__aa__
(A) aabba (B) bbaab
(C) abaaa (D) baabb
57. AZ,EX,FU, ___
A) IR ®) v
(©) JQ (D) KP
58. ,PSVYB, EHKNQ, TWZCF, ILORU
(A) ZCFIL (B) SVYBE
(C) BEHKN (D) ADGIM
Note: Q. No. 59 to Q. No. 62 depend upon
the following coding.
Figure C:{)'P D @ A —:f{
Code 1. 2. 3. 4 &
Figure Q Co— D 72
Code 6. . 8 9 10
59. Which number is presented by following
figure—
OGP R -
(A) 16198 (B) 79168
(C) 79816 (D) 17968
60. Which number is depicted by the following
figure—
(A) 24672 (B) 46772
(C) 72246 (D) 27462
61. Which number is presented by the following
figure—
(A) 56714 (B) 19844
(C) 56744 (D) 56144
62. Which number is presented by the following

figure—

AGOA X

(A) 47645 (B) 45754

(C) 54674 (D) 74654
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(A) aabba (B) bbaab
(C) abaaa (D) baabb
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©) Q (D) KP
58, ,PSVYB, EHKNQ, TWZCF, ILORU
(A) ZCFIL (B) SVYBE
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63. Complete the following Number Series :

1.3, 11,87, i , 1439

(A) 239 (B) 293

(C) 932 (D) None of these
64. 15,10,5,150,16,12,4,192,20, 15,5, ........
- (A) 700 (B) 600

(C) 400 (D) 300
65, 2,20, 120,50 ,3190

(A) 220 (B) 330

(C) 440 (D) 630

66. How many rectangles are there in the
following figure—

L ]
(A) 9 (B) 10
(C) 16 (D) None of these
67. Find the missing letter in the following table—
A|ClE
N{KIH
RIV]?
A)Z B) T
(GRF D) 1

68. Inthe following figure how many triangles are there—

=

(A) 11 (B) 14
©) 16 (D) 22 or more
69. IfA=1and AID=36,then BELL="
(A) 16690 (B) 2210
(C) 1440 (D) 1210
70. 'Who has been appointed as the new Railway
Minister—

(A) Suresh Prabhu

(B) Manohar Parrikar
(C) Bipendra Singh

(D) Jagat Prakash Nadda
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64.
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(C) 932 (D) T | & 7
15,10, 5, 150, 16, 12,4, 192, 20, 15, 5, ........
(A) 700 (B) 600
(C) 400 (D) 300
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(A) 220 (B) 330
(C) 440 (D) 630
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—
/
A) 11 (B) 14
(C) 16 (D) 22 a1 SdEH
aft A=13TAID =36, d BELL="?
(A) 16690 (B) 2210
(C) 1440 (D) 1210
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71. v has launched the new Guaranteed
Minimum Pension Scheme in Dehradun.
(A) Menaka Gandhi (B) Smiriti Irani
(C) Dharmendra Pradhan (D) None of these

72. The state game of Uttarakhand is—
(A) Cricket (B) Badminton
(C) Hockey (D) None of these

Note : (Q. No. 73 to 77) Choose the correct
figure from A, B, C, D in place of
question mark (?) i.e. make a full series.

. (D]
H @03

(A) (B) (C) (D)

Question Figures

Answer Figures

410 UL juuf ?

Question Figures

L
(D)

Answer Figures

.
® ©

5 & |B | 2 |

(8) (C) (D)

O
C

Question Figures

Answer Figures

76. | O

Question Figures

Answer Figures

£
C

7. | D

Question Figures

MDD

Answer Figures
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A g it
I
]

71| 140

R
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a
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L
(A)

-

(B) (D)
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G

2 ®

I Al

D)

Z

(C)

76.

Ol O
22300

z

77.

al g

(A) (B) (C) (D)
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78. Match list I to List II—
List 1 List II
(Name of MLA) (Constitucncy)
(a) Dinesh Agrawal (1) Khatima
(b) Subodh Uniyal  (2) Dharchula
(¢) Pushkar Dhami (3) Dharmpur
(d) Harish Rawat (4) Narendra Nagar

Code—

(a) (b) (c) (d)

(A) 3 4 1 2
®) 1 3 4 2
) 4 3 1 2
(D) 4 3 2 1

79. The state animal of Uttarakhand is—
(A) Lion
(B) Cow
(C) Kasturi Mrag
(D) Elephant

80. Mil Mi-17 is a/an .......... helicopter.
(A) Russian
(B) Indian
(C) American
(D) None of these

81. The official state second language of
Uttarakhand is—
(A) Hindi
(B) Sanskrit
(C) English
(D) Jaunsari

82. Who was Tapan Ray Chaudhary ?
(A) Historian
(B) Economist
(C) Painter
(D) Actor

78. AT I o e g 11 F Hif—
I

79.

80.

81.

82.

SET

gt 1
(Frerr &oT &
(1) &1
(2) G
(3) Ty
(4) 9% TR

(Farema &1 )
(a) a9 s
(b) a1 T
(c) gert gl
(d) The1 T
%\2_
(a) (b) (0) @
(A)
(B)
(©)
(D)

I o4 = L2
[P CI 'S R -
o = B
S I

TETETE w T g B
(A) I
(B) ™

(C) =0 I
(D) Tl

0T 7T T OHHATE 17 TF e lEd
(A) &1

(B) WA

(C) st

(D) 57 & &g

IeraveE F AEE fadg
3

(A) &=

(B) €&

(C) ST

(D) hEr

o T Al wE g ?
(A) ETeEEER

(B) ardsmrel

(C) faam

(D) stfiar



Note : (Q. No. 83 to 87) Choose the right neat
figure from the answer figure which one

is the pext right figure for the question

figure series.

83. Question figures :

sdiniln

Answer figures :

HiBB

(A) (B) (C)

H
-

(D)

B

84. Question figures :
4 =0|=0 X|0O X olx A =|S
* = o

x N

Answer figures :

=0 x =0l=0x|l=0Ce
° & 4 S
(A)y (B) (C) (D)

85. Question figures :
nswer nigures
(A) (B) (C) (D)

86. Question figures :

[ ] T pre =
o=
~ C o_le

Answer figures :

[+ 0 -+ o

= O 0 —<
(A) (B) (C) (D)

87. Question figures :

Alt | 4lclalt|]x]alt
s[clal=|=x|a]7 |7 ]o

Answer figures :
4lo|?]al?]ai4]|o
vi+ |+ |O[F |al#

(A) (B) (C) (D)

83.

84.

86.

87.

SET-A
(w5 . 83 ¥ 87 o) F=fafea s U |
aft ww ol @ @ el el & W
srgfwt 3 & U o g S S
U Sgiadl & achla as ST iRy ?

ug Agiadl
s

P

HiH

(A) (B)

HIR B

H

(C)

(D)

9 ETaar

4.:.0;
>

»

* 0
(o]
%
C
X
ob
n
w2
n
(@)

[

Th{ AT

o ¥ O
]

(A} (B}

TS Al
S

(A) (B) (C) (D)
9§ Ingfadt

(C) (D)

L1O

e —
- 10 3 o le
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88.

89.

90.

91.

922.

93.

94.

Which is the highest peak of Uttarakhand—
(A) Trishul (B) Nanda Devi
(C) Chogori (D) Neelkanth

‘Operation Surya Hope is related to which state—
(A) Uttarakhand (B) Uttar Pradesh
(C) Bihar (D) Tamil Nadu

Who was appointed as a Nodal Officer for
Relief and Rescue operation in Uttarakhand—
(A) V. K. Joshi

(B) V. K. Sharma

(C) V. K. Thapliyal

(D) V. K. Duggal

Hon. Govemor of Uttarakhand is appointed by—
(A) Chief Minister of Uttarakhand

(B) President of India

(C) Prime Minister of India

(D) Home Minister of India

Who led the Chipko Movement—
(A) Gaura Devi

(B) Chandi Prasad Bhatt

(C) Govind Ballabh Pant

(D) None of them

‘Ansuiya Prasad Bahuguna’ is also known
as—

(A) Gandhi of Uttarakhand

(B) Garh Keshari

(C) Vraksh Manav

(D) None of these

Kalsi Inscription is related to—
(A) Emperor Chandra Gupta
(B) Maurya Emperor

(C) Emperor Ashok

(D) None of them

88.

89.

90.

91.

92.

93,

94.

14

Sk

TAETE F g ST 9l g

(A) Bigw (B) =T 3
(C) 9T (D) FraFos
‘HeE 4 B e Wy @ =ty
(A) STUE"E (B) SOT 99
(C) feem (D) afaTg

IERREUE H Ued Ud 9919 F & for
drew st & v # Fgam B
(A) g1, &. e

(B) dt. &. g

(C) 1. &. gufeard

(D) &1. &. g

TAETE F HI. T Bl B g F
(A) FETETs & qEEAl B

ezafa Z

(C) Fu=HA! g

(D) 9RE & EHAl &N

foro seE & Age R fEr-
(A) T 24t

(B) =31 yEIE 9L

(C) Tifa= gea¥ U=

(D) &8 | #E el

FEE AT SET & R
ST B

(A) TeRr@ve & Tt & A |
(B) Tedull & A

(C) g8 WFE & T |

(D) T3 & FE T8

Fedr & fraee e aefad
(A) FaE T«

(B) #rd |\

(C) |HIE 3191

(D) Td & FE 8



95. Name of Kumaon in Purana’s—
(A) Kedarkhand
(B) Uttarakhand
(C) Uttranchal
(D) Manas Khand

Note : (Q. No. 96 to 100) Read the following

figure and give suitable answer from
given options.

2
&\4)17

3
22
30 L

"y

In figure triangle represents doctor, circle

is represents players and rectangle is
represents artist, then—

96. How many artists and players are doctors—
(A) 6 (B) 8
(C) 4 (D) 3

97. How many artists are players—
(A) 30 (B) 29
() 25 (D) None of these

98. How many artists are there who are neither

players nor doctors—
(A) 29 (B) 30
C) 22 (D) 8

99. How many doctors are there who are neither
player nor artists ?

(A) 17

(B) 30
(C) 8 (D) 17
100. How many players are there who are neither
artist nor doctor—
(A) 22 (B) 4
(©) 25 (D) 3

SET-A
95. Il § FATS &1 A A F S A AT
(A) BEES
(B) SaT@Ts
(C) Saugd

e (IS E. 96 / 100 9F) ThF 99 7 faQ

Fprifra sngfa & sremas & o sfaa
EastaAll

N
%4 )1?

22N /
M\XV

R Bryw Sfeed w6, g faetsal
F TUT A FAOTH F giI@ S

21
96. fav weER Ud fEaE SEet §
(A) 6 (B) 8
(€) 4 (D) 3
97. fra wemER fEarE E—
(A) 30 (B) 29
(C) 25 (D) &8 | TS Tl
98. foraw womER UH § S 7 o fgandt € o =
EiRt—
(A) 29 (B) 30
(C) 22 (D) 8
99. fra STRA W E W T A faenS ® o
FATER ?
(A) 17 (B) 30
() 8 (D) 17

100. fFae faard O& & o 7 & FamR & ol T

16

Tia—
(A) 22 (B) 4
(C) 25 (D) 3
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SET-A

wrr - 2 (sitfas fasrr aar afvm)
PART - 2 (Physics & Mathematics)
(w97 @@= 101 & 200 T%F)

lim (x'-a?h

101. =7
X=a X—a
1 -1
(A) = (B) =
1 -1
© 2 @ 2z

102. IfP =(0, 1, 0), Q = (0, 0, 1) then projection
of PQonthe planex +y+z=3 is—

(A) B (B) 3
©) V2 (D) 2

103. If a. b, ¢ are non-coplanar unit vectors such

b+c
that a x (b x ¢) = —J‘——, then the angle

2
between a and b is—
T n
A) 7 (B) 3
3n
© 5 ®) ~

. . x-1 y—2 7z—3
104. If the straight lines " = . = 2

and

x=2 v=3 z-1

intersect at a point, then

3 k 2
the integer k is equal to—
(A) 5 B) 2
©) -2 D) -5

105. Domain of the function

- —_— 172
i‘(x)={logm[ x:\ ﬂ js—

(A) —o<Xx<w B) 1sx<4

3 -1 -1
101. lim _(u__._),:")
X—a X—a
1 -1
) < ® —
1 -1
© = ® =

102.3R P=(0,1,0),Q=(0,0, 1) &, aa PQ &
FAA x +y+2z=3 9 98T B—

A) 3 ®) 3
© {2 D) 2

103. afE a, b, ¢ FTAT TE ARy W yFR E f&
b
a><(b>=-c)=%,?ﬁaab%ﬁﬁﬂﬁ“1%—

™ ¥ ]
(A) 2 (B) 5
In
© 'y D) n

. x—1 -2 z-3
104. afx w@ I@nd =% o.M
k z 3

q

¥, o quife k9 —
(A) 5 (B) 2
©) -2 D) -5

2 112
105. w7 f(x) = [logm [-Sx;x H & BF

(C) 4<x<16 D) —1<x<1

16

(wr=7) Erm—
(A) —o<x<o  (B) 1<x<4
(C) 4<x<16 D) —1<x<1
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106. d/dx cosec hx =7
(A) - cosec hx cot hx
(B) —sec h x cot hx
(C) sec h’x
(D) None of these

107. What is the angle between P and the

resultant of (P +Q) and (P-Q)

P
(A) Zero (B) tan™ (EJ
Q L P-Q)
©Qurip) O e
108. In the following relation y = a cos (wt — kx),
the dimensional formula for k is—
(A) [ML'T] (B) M’LT]
(C) [ML'TY] (D) [M°LT]
109. Which of the following graph represents
uniform motion—
1. A
1/ ;
(A) ® [/
> S
TJ\ T‘-h )
s S
© A; (D)
s _—t_:?
110.

The angular amplitude of a simple pendulam
15 8. The maximum tension in its string will
be—

(A) mg(l — 6,

(B) mg(1+86,)
(C) mg(1-67)

(D) mg(1 +6,)

d ) 3/4
] X
dx 108 € [x+ 2) } equal to_

111.
2
1
(A) 1 X+
® =,
2 2
x° -1 x° =1
C x

17

SET-A

. 106. d/dx cosec hx =?

(A) — cosec hx cot hx
(B) —sec h x cot hx

(C) sec h’x

(D) = @ i T
107. P @1 (P+Q) W (P-Q) & wiomd & 99

FIT BT —

P
(A) A (B) tan™ (6]
Q) Gl

108. B2 T W= y = a cos (wt — kx) H k @1

forfra o= &

(A) MLIT] (B) [MLT]

(C) IM°L'T] (D) [M'LT]

109. Fr= ® ¥ F19 1 UTE T GHH TG ST S9ar

;
t M
1/ !
(B) &% X

t—)
i f—

S
© A) (D)
t t >

110. T@ Wk & Ho0g oA 6, ¥ 1 Sl §
SAferwaT T Be—
(A) mg(1-6,)
(C) mg(1-67)

>

(A)

(B) mg(1+86)
(D) mg(! +86.)

_d__l % x=2 3/4
111. B og4qe x+2) SR e—

2
1
®) X2 il
2
x" -1 x? -1
C X
()x2-4 D) e 73
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112, If x = sin t and y = sin pt, then the value of
( _Xz)ﬂ_xﬂhpzy:o
dx?  dx '

(A) 0

©) -1

(B) 1
D) {2

dx =7

tan”! x
113. J
1+x

(A) (tan”'x)*+C  (B) 2tan”' x+C
L S
(tan™ x) 4
4

(©) 2(tan™' x)* +C (D) C

d? 3
114. |—(tan™ x)dx is equal to—
'[dx2 4
(A) tan”' x+C

1
B)

14 %2

+C

(C) xtan™' x —é—log(l-}- x2)+C
(D) None of these

11S. Ify=C e x, then corresponding to this

the differential equation is—

.t -
) ax V1-x2 B) ax 1-%2
dy %

(©) E;: \/l_—_x—z (D) None of these

A stick of 1 m is moving with velocity of
2.7 % 10° m/s. What is the apparent length of
the stick (C =3 x 10®* m/s)—

116.

(A) 10 m (B) 0.22m
(C) 044 m (D) 24m

117. Force required to move a mass of 1 kg at rest on
arough plane (u =0.1 and g = 9.8 m/s?) is—
(A) 0.98 N (B) 049N
(C) 98N (D) 49N

114.

. SET-A
112. fZ x = sin t 3R y = sin pt, 79

d? dy
Gy = ="

d
(A) O (B) 1
) -1 D) /2
113 Jtaﬂ_}xdxz'?
T 14x? '

(A) tan”'x)*+C  B) 2tan'x+C
-1\
(tan™" x) 4
4

(©) 2(tan"'x)*+C (D) C

P &
F(tan } x)dx CLIGE %'—
(A) tan"'x+C

|
B
(B) 14 %2

+C

(C) xtan ' x - %log(l $RENE

(D) 379 | 315 T@i
115. afz y=Ces x, A1 2a% QU A GHIHT
¥
dy __ ¥ dy__ 1
(A) dxF\Jl_x2 (B) dx 1—x2
dy  x P .
© &~ 2 O FHIaE T

1 Hiex @l B 2.7 % 10° m/s & 3T § TEE B
B T T B— (S C=3 x 108 §/3) —
(A) 10m (B) 0.22m

(C) 0.44 m (D) 2.4m

116.

117. 1 kg 799 U& &fds 5901 g w9aw T
form & e & <& ofommw &0 & oy smavas
T B— (u=0.1 797 g =9.8 m/s?) is—

(A) 098N (B) 049N

18

(C) 9.8 N (D) 49N
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118. A bullet of mass a and velocity b is fired into
a large block of mass c. The final velocity of

system 15—
(4) aib'b (B) a_j-_c-b
+
© a:b_a D) aac.b
119. For the given unifonn-squarc lamina ABCD,

whose centre is O.

A _E B
40
D F; C
(A) 2 =g (B) Iup =3lg
€1 1.~L, M) .= 1/2]EF

120. If the distance between two masses is doubled,
the gravitational attraction between them—
(A) Is doubled

(B) Becomes four times

(C) Is reduced to half

(D) Is reduced to a one fourth

121. A coin is tossed twice. The probability of

getting head both the times is—
(A -4 B ]
iz B) 7

3
() 2 D) 1

122. Word ‘UNIVERSITY” is arranged randomly.
Then the probability that both ‘I does not
come together is—

3
(A) 5 (B)

(D)

TSR TS

4
© 5

19

SET-A
118. b AT A a FHHHA FI T TG ¢ FIHE & T
a2 qE W ent o &) frea @ S 3

C a

e i N
(A) a+b 8 B a+c
b +C

© ®

119. vF 1 vz@ ABCD eqfar 7 &, fas &=
O ¥, 389 erm—

A E B

C

(B) ]AD =3IEF

(D) IAC = \1215}-

120. aft < gegmml & & @ g0 & T S S T
@ T d9 TEAHY qA—
(A) @ AT & Sam
(B) ¥R 7T & FRAM
(C) smen & s
(D) T& 919 & S

121. & g & IR Soren S & g1 SR ofid
I T yrafear g

(A)

(A} 1,21)\(-_ =]EF

(.0 f W

1
B) 7

Blw r|-

©) D) 1

122. s/ “UNIVERSITY’ & qgesar aqafad faa

;’W%ﬁﬁ‘l’%ﬁmwaﬁaﬁmﬁm

3
43 (B)

4
© 3 (D)
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123. The measure of dispersion is—
(A) Mean deviation

(B) Standard deviation

(C) Quartile deviation

(D) All the above

124. If the average of the numbers 1, 2, 3, .... 98,
99, x is 100x, then the value of x is—
51 50
(A) 101 (B) 99
C 2 D) N fth
()}00 (D) None of these
125. If correlation coefficient is negative, then the

regression coefficient is—
(A) Zero (B) Cae
(C) Negative (D) Positive

N mgl
Lo nr’L
doubled—

126. formula would give Y if mg is

5Y

(A) 3Y @ 5

7Y
(C) 5 (D) None of these
The value of surface tension of a liquid at
critical temperature is—
(A) Infinite B) 11
(C) 3 (D) None of these

127.

128. If pressure at half the depth of a lake is equal
to 2/3 of pressure at the bottom of the lake
then what is the depth of the lake—

(A) 10 m (B) 20 m

(C) 60 m (D) 30m

129. The coefficient of superficial expansion of a
solid is 2 x 10-%/°C. It’s coefficient of linear
expansion is—
(A) 4 x 105/°C
(C) 2 x103/°C

(B) 3 x 10-%/°C
(D) 1x10°%°C

) SET-£
123. 8901 &t ¥ -

(A) are fagas
(B) 991 g
(C) uge= faaem
(D) &1 o= q&

124, 3¢ gy 1,2, 3, ... 98, 99, x F7 79T °R
100x & a7 x &7 719 2r—

51 50
(A) 101 (B) 5

50 .
©) 357 (D) &9 ¥ P 7

125. 3% FEw==a oS A &, @ qEEa T

(A) 3 (B) =
(C) FMHE (D) g9 SE
mg]| ) .
126.Y=""- FHET § WW mg & & T F
M WY FT A M-
5Y
(A) 3Y B) <
7Y  xg
©) & (D) SUia | &IE
127. Fif=1% @9 W 5 & S T B—
(A) o= (B) 11
©3 (D) T8 § i 7

128. Sfie &1 el @l TeE 9 Sl Tes w R

forelt farg WX 29 S 31 a9 W 39 F12/3 1
Hid @ Teds En—

(A) 10m (B) 20m

(C) 60 m (D) 30 m

129. T% 3| & &G YR Ol 2 x 105/°C
TS W TR o7 Em—
(A) 4% 10°%/°C (B) 3 x 10°5/°C
(C)2x10%°C (D) 1x10%°C

20
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130. 300 gm of water at 25°C is added to 100 gm
of ice at 0°C. The temperature of the mixture

15—

5
®) -3
(D) 0°C

S (]
A =5
(©) ~5°C

131. If acute angle between the two regression
lines is €, then—

(A) sin>1-17
(C) sinb<1-r*

(B) tan6>1-r?
(D) tanb<1-1?

132. When does the current flow through the
following circuit—

/
q
ssilled

i o
p r

/
q

(A) p, q, r should be closed
(B) p, q, r should be open
(C) Always

(D) None of these

133. By Simpson’s rule taking n = 4, the value of
1
1+x?

: 1 ,
the integral J-O dx is equal to—

(A) 0.785
(C) 0.781

(B) 0.788
(D) None of these

134. For linear programming (L.P.) problem
Min z = 2x — 10y subject to x — y > 0,
Xx=Sy>-Sandx,y>0,z=2?

(A) 10 (B) —20
(C)0 (D) =10

135. Inagroupa®=b*=e and ab=ba’, then a’b is—
(A) ab? (B) ba
(C) ba? (D) ba’

21

SET-A

130. 25°C 919 & 300 gm wa@ @& 0°C &

100 gm &% ¥ Fyamn s & B @& g
B—

5, Se
@ -3"C B) -3°C
(C) =5°C D) 0°C

131. af¢ & FHIHTY W@ & &9 gART 0 &
aM—

(A) sin821-r?
(C) sinB<1-12

132, uftyg % #9 faga awr yafeq enfi—

/
q

B) tan0>1-r
D) tanf<i-1’

/] el
p r

/

g

(A) p, q. T 5T B Tifew
(B) p, g, r et B ¥Ifey
(C) 5

(D) 3T | FF TE

133.fvqaa & fogrs zm, n=4939 W

I] Izdx H A B—

01+x
(A) 0.785 (B) 0.788
(C) 0.781 (D) T § #1¢ 78

134. WA YHIT TEET Min 7 = 2x — 10y, srafs

X-y20,x-Sy>2-5qarx,y>0, %
fmz=29 ,

(A) 10 (B) -20
€0 D) -10
135. {5t &798 & a* = b* = e wg ab = ba®, it a%b 1
T E—
(A) ab? (B) ba
(C) b'a? (D) ba®
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136.

137.

138.

139.

140.

141.

142.

143.

144.

What is the mass of 2 litres of nitrogen at
22.4 atmosphere pressure and 273 K—

(A) 28 gm (B) 14 x224 gm
(C) 56 gm (D) None of these
First law of thermodynamics is given by—

(A) dQ = dU + PdV
(B) dQ = dU — P4V
(C) dQ = (dU + dV)P
(D) dQ = PdU +dV

A perfect blackbody is one whose emissive
power is—

(A) Maximum (B) Zero

(C) Unity (D) None of these

A simple harmonic motion is represented by
F(t) =10 sin (20t + 0.5). the amplitude of the
S.HM. is—

(A) a=50 (B) 1=20
(C)a=10 D) a=5
Angle between wave velocity and particle

velocity of a longitudinal wave is—

(A) 90° (B) 60°

(C) 0° (D) 120°

The decimal equivalent of (264), is—
(A) 180 (B) 170

(C) 166 (D) None of these

The centre of gravity (C.G.) of three particles
placed at the vertices of a triangle is at its—
(A) In centre (B) Centroid

(C) Circumcentre (D) Orthocentre

The path of projectile in vacuum is a—
(A) Straight line (B) Circle
(C) Ellipse (D) Parabola

Two bodies of mass m and 4 m are moving
with equal momentum. The ratio of their K.E.
Is—

(A)1:4
(&) 11

B) 4:1
(D) 1:2

SET-
136. 22.4 =1gAvew o9 U§ 273 K 919 W 2 ®2
LI &1 ZAH E—
(A) 28 gm (B) 14 x22.4 gm
(C) 56 gm (D) =% & T &

137. STl &1 yom fagy 3—
(A) dQ =dU + PdV
(B) dQ =dU - PdV
(C) dQ=(dU +dV)P
(D) dQ =PdU +dV

138. gof o7 vz & el aman ad 2 —
(A) sttrFan B) =
(G (D) == & Fr¢

139. UF W& g T F wHE
F(t) = 10 sin (20t + 0.5) & zrq waidfa f&
AT &, T TS T FT ST B—

(A) a=50 (B) 1=20
(C)a=10 (D) a=5
140, FTFeed T ¥ a0 A a9 F & 9T @ qg
IV BIaT B—
(A) 90° (B) 60°
(C) 0° (D) 120°
141. (264), 1 TWHE TF &
(A) 180 (B) 170
(C) 166 (D) = & FE =&
142. ot Brgst & ot W @ 9 e &9 @
o &% 8-
(A) T (B) =&
(C) uftd= (D) T &%
143. fafq § war qg & &
(A) T @I (B) ga@R
(C) drdfgamm (D) ITEFATHR

144. m 997 4m TATE & & fove us §WE
I & T @ §, @ Ao St @ dgd
ET— :
(A)1:4
(€)1:1

®B)4:1
D) 1:2

22
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145,

146.

147.

148.

149.

150.

151.

secx dx
Jeos 2x -
(A) sin”!(tan x) (B) tan x
© coslnn) (D T—
Jeosx
(@xb)? +(a.b)?
The value of 2a252. is equal to—
5 3
A) 3 ®) 5
1 4
© 5 ® 3
Speed of sound at constant temperature

depends on—
(A) Pressure
(C) BothA&B

(B) Density of medium
(D) None of these

A tuning fork vibrates with 2 beats in
0.04 second the frequency of the fork is—
(A) SOHz (B) 100 Hz

(C) 80 Hz (D) None of these

The moment of inertia of a solid cylinder of
mass M and radius R about a line parallel to
the axis of a cylinder and lying on the surface
of the cylinder is—

2 3
(A) EMR2 (B) EMRQ
3
(C) EMR2 (D) None of these
The tension in the spring is—
(A) Zero (B) 2.5N
(C) 5N (D) 10N

Equation 1 - %-}- %cos @ represents—
r
(A) A rectangular hyperbola

(B) A hyperbola
(C) An ellipse

SET-A

secx dx =
3 Jcos 2x
(A) sin(tanx)  (B) tanx
sin x
©) cos_l(tan X) (D) m
axb) +(a.b)’
146. @ :_352 E(za ) F A E—
S 3
(A) 5 (B) 3
C) ~ 4
©) 5 (D) 3
147. eaf %1 fq (Frae arg @) el o=t -
(A) T8 W (B) Hiftaw & o9 @@

(C) A 3R B W (D) SwEd § & T8

148. vx =it fager 0.04 ¥dve 4 2 fm @ a

Ffm & o Brger @ el #—
(A) 50 Hz (B) 100 Hz
(C) 80 Hz (D) T & &2 &

149. M A & R Brear & s 3 9@ &
g gl IEA Iy @ YRR a9 wae W

e Yar & ufta: Enm—
(A) %MRz (B) %MR"'
(©) SMR? (D) i & @ T

150. 2 73 faim 4 999 &—
s N———JRT—s"
(A) = (B) 25N
(C) 5N (D) 10N

151. FfeT -1—=-é—+%c059 seRfe e B
I

(A) % gHHNY Sfaasg
(B) us fquitama

(C) us g

(D) A parabola

23
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152. On the parabola y = x?, the point of least
distance from the straight line y =2x -4 is—
(A) (1, 1) (B) (1,0)
©) (1,-1) (D) (0,0

If the line 3x + 4y — 1 = 0 touches the circle
(x— 1)+ (y—2)’ =7, the value of r will be—

153.

12
Ok ®) 5

2
©2 ®) 3

154. The normal at the point (3, 4) on a circle cuts
the circle at the point (=1, —2). Then the
equation of circle is—

(A) x> +y? +2x-2y-13=0
(B) x2+y* —2x+2y+12=0
(C) x2+y*-2x-2y+14=0
(D) x*+y* -2x-2y-11=0

155. The equations (x +y) —(x*+y*) =0 represent—
(A) Acircle

(B) Two mutually perpendicular lines

(C) Two parallel lines

(D) None of these

156. The value of electric permittivity of free
space is—

(A) 9 x 10° NC¥m?

(B) 8.85 x 1072 Nm?*/C? sec

(C) 8.85 x 10-1? C¥/Nm’

(D) None of these

157. Effective capacitance between A and B is the

figure shown (all capacitances are in pF)—

4 8
(A) 21 pF (B) 23 uF
3 14
(€) [gHF (D) 5 wuF

24

SET-A
152. WaFd y = X 9, A L@l y = 2x — 4 ¥ AT

70 W fem fag B

A 4,1 ®) (1,0)

© (,-1) ®) (0,0
153. af @ 3x +4y—-1=0 T (x— 1 +(y-2¥=r

&1 wyt HE & @ r FAA S

12
(A) = ®) 5
2

©)2 ®) 3
154, 39 & fag (3, 4) W i, 70 & (-1,-2)

T FEAT & 99 g9 H GHIE &

(A) x2+y2+2x-2y-13=0
B) x> +y’ -2x+2y+12=0
(C) x?+y?=2x-2y+14=0
(D) x> +y*-2x-2y-11=0

155. TN (x +yP - (2 +y) =0 Frefim & -
(A) T JT _
(B) 2 WER TEaq @
(C) 21 |G @
(D) S9F | @i 6

156. Frafa ¥ Rrgasfiear &1 A= @& 5—
(A) 9 x 10° NC¥m?
(B) 8.85 x 1072 Nm?/C? sec
(C) 8.85 x 1072 C¥/Nm?
(D) T & F T

157. frt o 4 A 9B & <9 enftar ge (89
Heuifst & AW pF ¥ 8)—

(A) 21 pF (B) 23 pF

14
D) 3 uF

04/FEB
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: specific resistance of mangnin is
« 107* ohm-m. The resistance of a cube of
gth 50 cm will be—

) 10° ohm

) 2.5 x 10~ ohm

) 10°® ohm

1) 5§ % 10 ohm

ve conductors are meeting at a point x as
own in figure. What is the value of current
fifth conductor—

an
5A x| 3A

SA

A) 3A away from x (B) 4A away from x
C) 1A away fromx (D) 1A towards x

fE=at+bt’, what is the neutral temperature—

_ a a
A) =3¢ (B) 55
© -7 (D) ++

b b
The angle between the lines xy = 0 is—
(A) 45° (B) 60°
(C) 90° (D) 180°

If the coordinates of the vertices of a triangle
be (1, a), (2, b) and (c’, 3), then the centroid
of the triangle—

(A) Lies at the origin

(B) Cannot lie on x-axis

(C) Can not lie on y-axis

(D) None of these

., The points (1, 1), (0, sec? 6), (cosec?®, 0) are
collinear for—

nmn nn
(A) 6= £ (B) 6= 3
(C) 8=nn (D) None of these

SET-A
158. T &7 fafsre wfader 50 x 107 fg-siex

150 9 wEE % WA F US89 &

wfedrer grm

(A) 10 379

(B) 2.5 x 10~* 3fm

(C) 10°® 3t

(D) 5 % 10 &1

159. feEraR 9 e o g x w R €
ifed araE # G HT A erm—

4A
5A x| 3A

5A

A)x F3AT (B) x T4ATY
O xFIAYT (D) 1A, X T 3R

160. afe E = at + bt?, d1 S QT 41 Bn—

a a
(A) =54 ®) +5

a a
@ -3 ®) +3

161. @i xy = 0% TeT Fiop —
(A) 45° (B) 60°
(C) 90° (D) 180°

162. 3% w By & §fd (1, 2), (2, b) 70 (3, 3),
& 4t B &1 e —
(A) T Rg W &
(B) x-3T& T¢ &} & W ©
(C) y-31&1 T E & WH &
(D) T# & E TE

163. f&g (1, 1), (0, sec? 8), (cosec? 6, 0) TRE
g, afe—

nmn nmn
(A) 8——2— (B) 6=

(©) 6=mn (D) TH & F 7

25
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164.

165. If cosec 6 = cot hx, then the value of tan 6 is—
(A) cos hx (B) cosec hx
(C) tan hx (D) sin hx
166. cot! (- /3) =
n s
A-% ®)
" 2
© 3 D) 3
167. In a cyclotron, the angular frequency of a
charged particle is independent of—
(A) Mass
(B) Speed
(C) Charge

168

169.

176.

1
sin h™! [5) is equal to—

1

(A) tan h—’[Jg] (B) tan™ h(+/5)

(C) tan h'' (4/3) (D) None of these

(D) Magnetic field

In a moving coil galvanometer, the deflection
of coil O is related to the electrical current i
by the relation—
(A) ictan®
(C) icd?

(B) 1B

(D) i+

Unit of magnetic flux density (or magnetic
induction) is—

(A) Tesla

(B) Weber/meter

(C) Newton/Ampere-meter
(D) All of the above

The mathematical equation for magnetic field
lines of force is—
(A) V.B=0

(C) V.B>0

(B) V.B»0
D) V.B<o

26

SET-A

1
164. sin h"‘(g] =
1

(A) tan h-'I[Jg ] (B) tan™ h(/5)

(C) tan h™' (+/3) (D) 3H | & T8
165. Tf2 cosec O = cot hx, T4 tan 6 & U t—
(A) cos hx (B) cosec hx
(C) tan hx (D) sin hx
166. cot”’ (- /3) =
x sm
A) - ¢ B) —
i 2
© 3 @) 3

167. Agaaz #, smifim o i aeliw JEi
el 78 T
(A) 7= 9T
(B) =T W
(C) =Y W
(D) T=arT & W

168. i1 = vee aredt & R 6 g amr i
T BT 6—
(A) 1cctanB
(C) iec?

(B) 1cB
D) iecVB

169. G&1q Fa 99 F7 919 2—
(A) Taen
(B) e
(C) FFaAfggrdiex
(D) Iwti ot

170, JHa Yt 3 fog i e

(A) V.B=0
(€) V.B>o



SET-A
171.&%&%%@5%#@@%

-taff of 6 meter height is placed on the
tower throws a shadow of 2./3 meter A T 243 Hie B ffif &, @
he ground, then the angle (in degrees) Qﬁ &1 ST BT B —
. sun makes with the ground is— (A) 60° (B) 80°
0° (B) 80° (C) 75° (D) T8 § &g T
5P (D) None of these
ngle ABC, if ZA=45°, ZB=75%, then 172. f56t AABC &, aft £A =457, £B=T75", 79
3= ) atc2 =
0 (B) 1 (A) O B) 1
b ®) 2b (C)b (D) 2b
1 1 1 1 1
1+x 1 |= 173. |1 1+x 1 |=
1 I+y (G S €
)1 (B) 0 (A) 1 ®B) 0
)X (D) xy (C) x (D) xy
1 4 20 1 4 20
he toots of the equation |1 =2 51=0 174. @@l -2 5 |=0 3 @ o
1 2x 5% 1 2x 5%
re— (A) -1,-2 B) -1.2
A) -1,-2 B) -1,2 (©) 1,-2 D) 1,2
(C) 1,2 D) 1,2
The value of (J5 + 1 = (5 =1V 15— 175. (5 + 15— ({5 — 1) %1 9 &—
(A) 252 (B) 352 (A) 252 (B) 352
(C) 452 (D) 532 (C) 452 D) 532
Lenz’s law is the consequence of the law of 176. a1 1 (FETHET e 7 qfom # )
conservation of— (A) R ICE (B) qam
(A) Charge (B) Momentum (C) Z= (D) Tt
(C) Mass (D) Energy
', The average power dissipation in pure 177. U FRY TEA # afra ofed &9 Bar -
inductance is— (A) T (B) 2LP
(A) Zero (B) 2LF (C) 1/4Lr (D) T & B T
(C) 1/4 L (D) None of these
- : 178. UF FATEd! 9T & rms AT 10A%, @8 12Q
8. An alternating current of rms value 10 A 1s ’
passed througha 12 O resistor. The maximum s ¥ I it & | el arferpare e
potential difference across the resistor is— ?:;'20 v ®) 90V
(A) 20V (B) 90V
(C) 169.68V (D) None of these ‘ = ] (C) 169.68V (D) ¥ %ﬁggm
I
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179.

180.

181.

182.

183.

184.

185.

186.

The peak value of 220 volt of ac mains is—
(A) 155.6 volt (B) 311.0 volt
(C) 220.0 volt (D) Npne of these

Vidicon works on the principle of—
(A) Electrical conductivity

(B) Photoconductivity

(C) Thermal conductivity

(D) Sonar
The last digit in 7°% is—
(A) 7 B) 9
1 D) 3
m
¥y "C, =?
r=0
(A) n+m+lcn+l (B) n+m+2cn
()= (D) None of these
In how many ways can 10 true-false questions
be replied—
(A) 20 (B) 100
(C) 512 (D) 1024
Ifx?+y?=25,xy=12thenx =
(A) {3.4} (B) {3.-3}
©) 3:4,-3,-4F ©®) {-3,-3}
How many roots the equation
2 i 2
X~ =]—- -
x-1 x-1 4
(A) One (B) Two
(C) Infinite (D) None of these

5 6
The sequence ——, —, ﬁ, e
N e

(A) (H.P.) Harmonic progression
(B) (GP.) Geometric progression
(C) (A.P.) Arithmatic progression
(D) None of these

28

SET-A
179, F=1 (ac) F& 220 volts & faret 7 Ermr—
(A) 155.6 volts (B) 311.0 vo}ts

(C) 220.0 volts (D) =% & =E

180. faftem =1 1 fHara &—

(A) faga aredar

(B) YIS ATTFHAT
(C) Tofig arasFar
(D) WA

181. 7% @1 sifaw 3iF B—
(A) 7 (B) 9
)1 (D) 3

LU
i AL
r=0

(A) n+m+IC

182.

(B) n+m-¢'2(:rl
(D) T & = TE

n+l

(c) n+m+3 Cn—l

183. 10 57 T47 99 ¥9 & o7 s wEe §
fe v wwa E—
(A) 20 (B) 100
(C) 512 (D) 1024

184. A x? +y2 =25, xy= 1279 x =

(A) {3.4} (B) {3,-3}

© {3,4,-3,4} (D) {-3,-3}
185. gHETTX — ... & W E—

x—1 x-1
(A) One (B) Two
(C) Infinite (D) =4 § FE 78
5 6

l%.agﬂ;trﬁ,ﬁ,ﬁ,....%|

(A) T 9o H

(B) o Soft &

(C) TwT=w oofr |

(D) 39 § FE T8
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187.

188.

189.

190.

The de-Broglie wavelength is proportional to—

(A) 1“;1; (B) Mi
1
(©) M—; (D) Aecp

The kinetic energy of the electron in an orbit

of radius r in hydrogen atom is (e = electronic

charge)—
2

Ay S B) —

( r? ©2r

(&) e (D) None of these
r

What will be ratio of radii of Li’ nucleus to
Fe* nucleus ?
(A)1:2
(C)1:8

B) 1:3
(D) None of these

The symbol given in figure represents—

/" \c

N

(A) PNP transistor
(B) PN junction diode
(C) NP junction diode
(D) NPN transistor

2 6
191. The9thterm ofthe series 27+9+5— +3 - +....

192.

8 7

will be—

10 10
A) 1= (B) 17
o 16 17
© 27 (D) 27
JE T -
A) J6 B) -6
©€) 6 (D) None of these

29

SET-A

187, S-aFTelT T e STHATIATET et &
(A) et B) hew—
¥ m
1
(©) b= (D) hecp

188. BEEH GOIV] &1 r Foroan @1 e | qoag
&1 niferst St 20l (SET e = geide Sag §)—

A ¢ B) &
()rz ()",}_’;
(C)f’}: (D) =8 q ¥ &

189. Li’ 71 iR Fe* s @it foram &1 St

"E:'F]T—
(A)1:2 (B)1:3
(C)1:8 (D) &9 | &1E 7l

196. fo=r o faar g5 32—

e/ \c

e

(A) PNP Fifoet

(B) PN &g s1die

(C) NP wfe srs

(D) NPN ziforeet

2 6 '

191.Mz7+9+5§ 3z +... %] 93f g ¥—

A 119 -

4) 117 B) 17

o 16 s 1

© % D) 37
192. J=3 J=3 =

(A) J6 B) -6

(©) V6 (D) T8 q FE &
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193.

194.

195.

196.

197.

198.

199.

200.

log, log, 7(\!7(—\/5) =7

(A) 3log, 7 (B) 1-31log,7
(C)1-3log,2 (D) None of these

The number of proper subsets of the set {1, 2,
3} is—

(A)8 B) 7

©) 6 (D) 5

Symbol ::DD_' represents—

(A) NOR gate (B) NAND gate
(C) NOT gate (D) XNOR gate

Find V,; in given figure—
30V 100
Vg 100
(A) 20V (B) 10V
(C)30V (D) None of these

The bit rate for a signal, which has a sampling
rate of 8 KHz and where 16 quantisation
levels have been used is—

(A) 64000 bits/sec  (B) 16000 bits/sec
(C) 32000 bits/sec (D) None of these

Focus length of a plane mirror is—
(A) Zero (B) Very less
(C) Indefinite (D) Infinite

If L is the coherence length and ¢ is velocity

of light, the coherent time is—
L
(4) cL ®) ~

1

T ®) T2

30

SET-A

193, R LH)
3-i
1 1
(A) =3 B) 3
_ 1
© % @) -5
194. log, log, ,7( 7(ﬁ] =9
(A) 3 log, 7 (B) 1-3log,7
(C) 1-31log,2 (D) TH § &IE 7@
195. T4 {1.2,3} & Aredtas Suaeddl & §E
Ca
(A) 8 (B) 7
) 6 (D) 5
196. Hebet o) o T4 712 o waldfa @ 2—

(A) NOR gate (B) NAND gate
(C) NOT gate (D) XNOR gate

197. R § V, &1 96 31T H—

(A) 20V (B) 10V
(C)30V (D) =¥ & FE 7

wF foma # &wfeT w8 KHz 8, w3
16 FEIgd w7 (quantisation levels) WG
& € | 3| R @ fae ot B—

(A) 64000 bits/sec  (B) 16000 bits/sec
(C) 32000 bits/sec (D) None of these

198.

199. T9a@ U & BEHE g1 -
(A) g9 (B) &7 o4
(C) sitAfsaa (D) ==
200, Af¢ L FAT-S99E 5 TE 8 a2 ¢ YHIel &1 av
& a1 Hell GG 999 eR—
(A) cL (B) -Ig
o & oL
© 1 @) 12
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